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Background

It has been discovered that due to the SIM test specified in TS 51010-1 and in TS 102 230 it is not possible for a GERAN only terminal supporting the UICC/USIM according to 31.101 and 3.102 to pass the test based on TS 11.11. The tests in both TS 51010-1 and TS 102 230 require special behavior of the terminal with respect to treat the ATR contents. The tester expects a TS 11.11 compliant terminal to reject an ATR in accordance with 31.101 and a TS 31.101 compliant terminal to reject an ATR in accordance with TS 11.11. The terminal support both the GSM SIM according to TS 11.11 and the USIM according to 31.102 will not reject an ATR which is compliant to either TS 11.11 or 31.101. 

Valid ATR

The correctness of the ATR handling can only be determined if the terminal is set-up to only support one specific application at a time. An ATR issued by a UICC is different from an ATR issued by a SIM and therefore a tester testing a SIM would expect the terminal to reject an ATR which is presented according to 31.101 and vise versa. An ATR which is invalid from one application/platform point of view may be valid in another application/platform. Therefore the tester shall not invalidate the terminal behavior based on the content of the bytes in the ATR. There may be values that are valid in one environment but not in another. Errors in the ATR where the contents of the characters is not inline with the application test cases should not lead to rejection of the test as these values may be valid for the terminal as it supports other applications. It is clear that errors within the ATR itself related to protocol errors, e.g. amount of indicated historical characters versus transmitted historical characters, shall lead to the appropriate error handling on the terminal side. 

Application detection

The terminal may need to reset the card in order to look for different applications. It is clear that multiple USIM applications can be looked for without a reset but that GSM and other applications that the terminal supports may not be looked for without resetting the card. The application tester must allow the terminal to look for different applications before it ends up in selection the application under test. It is not possible to always select the application that is to be tested first, the same terminal will support several applications and platforms and the manufacturer has selected a priority order.

Proposed solution

The test cases related to the ATR needs to be revised in order to allow for the terminal to support different applications and platforms. The ATR tests needs to be implemented in such a way that the ATR errors are of such nature that they are discovered regardless of which application the terminal supports. Also after that the terminal has failed to find a particular application it may continue resetting the card in order to look for other applications. The terminal can also decide which applications to look for based on the ATR content. The tester needs to allow for this.

In order for the terminal to be able to look for different applications the application/platform specific test cases needs to be modified in order not to start validating the test case before the application/platform is selected by the terminal. After the selection the tester may evaluate the terminal behavior with respect to the ATR. The ATR evaluation and in particular the presentation of an "incorrect" ATR must be done carefully as an incorrect ATR in one application/platform may be valid in another environment. Generating errors in the ATR should be restricted to clear ATR protocol related errors, not to the contents of each character, unless the character contains protocol related information, like the TD character.

The required modifications can be done only to the test specifications there is no need to change the core specifications. In particular changing TS 11.11 and 51.011 would be difficult. A change to 51010-1 and TS 102 230 would be required.

